[bookmark: _2w3ptmitnd74]6.7 - Past Tense Forms of jezdit 'to go by vehicle (regularly)'

A reminder that the verb jezdit ‘to go by vehicle (indeterminate)’ is conjugated regularly:

	(já)
	jezdím
	(my)
	jezdíme

	(ty)
	jezdíš
	(vy)
	jezdíte

	(on/ona/ono)
	jezdí
	(oni/ony/ona)
	jezdí



Často jezdíme na chatu..
‘We often go to the cottage.’

Past Tense
The l-form of the verb is also regular:

	 
	sg.
	pl.

	MA
	jezdil
	jezdili

	MI
	
	jezdily

	F
	jezdila
	jezdily

	N
	jezdilo
	jezdila


 
Když jsem byl malý, jezdili jsme na chatu každý víkend v létě.
‘When I was small, we used to go to the cottage every weekend in the summer.

